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Comprehensive Questions Overview

Comprehensive Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Comprehensive Questions.

Comprehensive Questions

Directions: In the following questions two columns are given containing three sentences/phrases each. In first column,
sentences/phrases are A, B and C and in the second column the sentences/phrases are D, E and F. A sentence/phrase
from the first column may or may not connect with another sentence/phrase from the second column to make a
grammatically and contextually correct sentence. Each question has five options which display the sequence(s) in which
the sentences/phrases can be joined to form a grammatically and contextually correct sentence. Choose the pair(s) which
make(s) a grammatically meaningful sentence.

Question

Column (1) (A) As the rain water began to collect in pools on the highway (B) For years, Argentina would dominate in
World Cup qualifying matches (C) Many have accused him of being a quiet misogynist Column (2) (D) One of the
European countries during the late stages of the tournament (E) Recently unearthed letters argue against this belief (F) It
began to hamper the flow of traffic

Difficulty : Moderate Average Time: 70 Seconds

Options :
1. C-F

2. B-F
3. A-F
4. C-E

5. None of these

Solution

The correct answer is option 3i.e. A-F

Only sentence (A) and (F) makes a perfect match. Word ‘highway’ and ‘traffic’ give us a clue. None of the two sentences
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makes the meaningful coherent sense. Had the sentence C and E been connected with ‘but’ it would be a possible match.
Hence option 3 is the correct answer choice.
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